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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2018 

CHEMISTRY 

CHE-05 : ORGANIC CHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt all the four questions. 

1. Attempt all parts : 	 5 

(a) Give IUPAC names of any two of the 
following : 	 2x1=2 

OH 

(i) 

OH 

OH 

N( CH3 )2 

0 	0 
II 	II 

(iii) CH3  — CH2  — C — — C — CH2  — CH3  
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(b) Write the structure of any one of the 

following : 

(i) 1,2-oxazole 

(ii) N-Methyl-N-propylpropanamine 

(c) Define chirality. 

(d) Infrared spectrum region between 675 and 

1250 cm-1  is called 	region. 

2. Attempt any five of the following : 
	

5x2=10 

(a) How can you convert propene into 

1-propanol and 2-propanol ? 

(b) Why is 2-hydroxybenzenecarboxylic acid 

more acidic than benzenecarboxylic acid ? 

(c) Give the structures of alkenes obtained by 

dehydrobromination of 2-bromobutane on 

treatment with alc. KOH. State which of the 

two alkenes is formed as major product and 

why. 

(d) Why is pyridine more basic than pyrrole ? 

(e) Define cetane number. State its importance. 

(f) Explain the acidity of terminal alkynes 

using a suitable example. 

CHE-05 
	

2 



(g) Assign RIS or EIZ (wherever applicable) to 
any two of the following compounds : 

CH3  

(i) H 	OH 

CH2CH3 

CHO 

H OH 

CH2OH 

Br Cl 
\ 

(iii) \ 
I F 

CH3  CH3 

(iv) 
H 	H 

3. Attempt any five of the following : 	5x3=15 

(a) Why is —OH group in phenol o/p directing 
in electrophilic substitution reactions ? 

(b) Write short notes on 

(i) Rosenmund reduction 

(ii) Beckmann rearrangement 
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(c) Name the type of isomerism exhibited by the 
following pair of compounds : 
(i) Propanone and propanal 
(ii) Butane and 2-methylpropane 
(iii) 2-pentanol and 3-pentanol 

(d) Draw boat and chair conformations of 
cyclohexane and indicate which of the two is 
more stable. 

(e) What products are obtained by passing the 
following alcohols over Cu metal at 573 K ? 
(i) 1-propanol 
(ii) 2-butanol 

2-methyl-2-butanol 

(f) Give the products of reduction 
nitrobenzene with 
(i) Fe, HC1 
(ii) Zn, aq. NH4C1 

(iii) Zn, NaOH (10 eq.) 

(g) What is ozonolysis ? Give the structure of 
products obtained on ozonolysis of 
2-methyl-2-hexene. 

4. Attempt any five of the following : 	 5x4=20 

(a) Give equations of the following name 
reactions 
(i) Benzoin condensation 
(ii) Carbylamine reaction 
(iii) Cannizzaro reaction 
(iv) Etard reaction 
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(b) Discuss the mechanism of Curtius 
rearrangement. 

(c) Fill in the blanks : 

(i) The ultraviolet-visible spectrum is also 
known as 	spectrum. 

(ii) A constant boiling mixture of two or 
more liquids is called 	 

(iii) Methoxy or ethoxy groups in organic 
compounds 	are estimated by 
	method. 

(iv) Diastereoisomers 	have 	different 
	properties. 

(d) Write the structures of the products 
obtained when methyl magnesium bromide 
is treated with 
(i) formaldehyde 
(ii) acetone 

acetonitrile 
(iv) carbon dioxide 

(e) Identify A, B, C and D in the following 
sequence of reactions : 

Br2 , Cat. Red P 
CH3CH2CH2COOH 	 > A 

(PBr3) 

1. H2O, K2CO3 , 

2. Hi-, H2O 
	 8 

 

KCN, NaOH 

V 1. H2O, -OH 
C 	  D 

2. H+, H2O 
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Na2Cr2O7 
	> 9 

H2SO4, 283 K • 

(0 Complete the following equations : 

Cl 

(i) 
fuming H2SO4  
	 >? 

CHO 

O 	
3 CHCOONa 

(ii) 	0 	+ (CH3C0)20 	 > ? 

NH 

NH3, H20 (iv)   

02 Catalyst 
	> ? + H2O 

(g) (i) Explain mutarotation taking D-glucose 

as an example. 

(ii) Give two differences between DNA and 

RNA. 
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1 1:11 .7V.t. -05 

m 	 

Trifff xr414Ti 

14t.1i-it, 2018 

TRTER  Id iii 

x'1.1.*. -05 : ct) Pc") INTER 

FITRI : 2 E,u2 	 367WUTI 	: 50 

F/Sit Wrf TR* 3W 007 / 

1. Fnit m74 	tf4R : 	 5 

() CiHRi(i 14 ft-4f 	aTrtzuft..111. 
tf* : 	 2x1=2 

a) 

OH 

0 
OH 

OH 

(ii) (0)— N(CH3)2  

0 0 
II II 

(iii) CH3  - CH2  - C - 	- C - CH2  - CH3  
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(w) 	 WI-  	fAR : 

(i) 	1,2-3 rt4TFT 

(TT) %-kizia 	tritsTrErr ti* 

(v) 3Tk*-4cto 	675 14 1250 cm-1 * 	W" 

2. -p-io 	4 1).  %7-61 qt*W *38T tf* : 	5x2.10 

() aTrq 3r1 	't 1--s44.4ro 3 IT 2-344-4-  4 Phki 
uellikxtRago   ? 

NO   -rchrtil etti 	a-TIF 

rich allf AV 34R-TW 3TINF 

(1T) 	 c-.4)-let.41 KOH 	ITT 2I 

141 91 	gwit 4 srrtu t4t4 	 
fAiR I 	t4t4 	.41-1-141 4=r9-  T.9e1 

3Niq 	 atIT 	? 

(v) 	RR-1-a 4 alft 41Tftzf 741 6141 ? 

(3) 41 	-1 fitgeil 	trib-TrErr ti* 	4tichi 	ci ift 

.4-dT-4R I 

drem 	 dqwui 	-WU 3iff1:2T q,i l 	aTirdf 
*r 00-11(.9441 *tf*R I 
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(o) f4-i 	r Rtii'r0 4 f4i7et e*rmRIS711 
E I Z (*r dRict 	*vcr 4 affiTf=4-Arru tf* : 

CH3  

(i) H 

CH2CH3 

 CHO 

OH 

(ii) H OH 

CH2OH 

Br Cl 
\ 

(iii) j \ 
I F 

CH3  CH3  
\ 	 

(iv) 
H 	H 

	

3. P+-iiCiftql 4*Wei- Ow 	 5x3=15 

	

(i) 	 Ni64414.1 3TRTI*41-31 -0-4F" 

	

— OH wig 37TeN EhT 	 -4711 6101 ? 

	

Pi-iRiRgo Tirawr 	L ifAR : 
t4 9n aitrwR 

(ii) 	714-BTU 
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iHroRsid ITTr-4 * 	3Kriff 	 

ii TIT eicW : 

(i) 344417 *3h  4-4-a.  
(ii) *2-A-rwo-9-14q 
(iii) 

(iEr) tilvtolct(-)-1 	-114)1 3 	Tkii cr)T-,:a 
aTritiff ttr-4R 	wa-qR 
	 AT* wrzil t 

(3) -IH rrl (s1 c1 	 573 K TIT Cu tTTg 1:FT 
VA 	3ra1 -srrqr 	 ? 
(i) 
(ii) 2-'ut4fF 

(iii) 2-14P-TF-2-WNYF 

(s) -11* 	. 	PHRIRsid 	kil2T 3Tc197R 3rrqr 
t-414 tr.-4R : 

(1) Fe, HC1 
(ii) Zn, 7—dtel NH4C1 

(iii) Zn, NaOH (10 eq.) 

(0) altAl4PAR:f   ? 2-4r2M-24 -4#17 
akA-1-411-euu -9-Rr 3-eTrql 	few 

4. -1H (sic! 44 14)4 rirW *Z87 tr-4R : 	5x4=20 

	af444Trall* kii-114Aui fAR : 
(i) 
(ii) qbigo .41-i 	 a 	it 

	al-RTWrr 
(iv) v.14 aTlit*-zrr 
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crgem 	rut- 1 	iifd 	1 wif 
(Tr) ftw .garq vft-R : 

(i) tik14, 141-?e4 Anzr 
TE1-4g4 tit 4)0 

zrrra1 *(tt l fr  
	 ct) 

(4)1 144) tfir0 4 42i-i-4017rr 744141 kilo 

	MT -gm Tu RAI w 
ticnai t 

(iv) 51§4likti)&14 	 Trig 'NW 
-04 t I 

('a) Wr1 	141 1i tgrg *1. •1&•A 	Rg 
aTR4*za 31-Rr .3C411 	*K-4-411 RIRg 	 : 
(i) 4441-C-̀ 15 

(ii) tfraq 
\tfoliw o 

(iv) chick .waTTRITig 
aTIWzrtall * AHroRsia wr 4 A, B, C D 

tr-6-4114R : 

CH3CH2CH2COOH 
(13Br3) 

1. H2O, K2CO3 , A 

Br2, 36)1-*roc P A  2. 11+, H2O 
	>B 

KCN, NaOH 

1. H2O, -OH 

C  2. H+, H20 
	  D 
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1 4•1 (1 	ki chtull 	.Q.NR 
Cl 

(i) 
Try H2SO4  > 

CHO 

+(CH3C0)20 CH3COONa 

  

NH2  

Na2Cr20, 

	

' 	> 
H2SO4, 283 K • 

NH3, H2O 
(iv) 	> 	> ? + H2O 

O 

(i) D 	dcivn TTT 'Effr44i puT 	 

eei 	*If- 	I 

(ii) 3TR:c9*.7. 

Giiiw I 
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